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2nd Year Examination, 2022 (June)

Time : 2 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein.
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SECTION-A/( @US-% )
(Long Answer Type Questions)/( S ST ol Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Twenty (20) marks each. Learners are
required to answer any Two (02) questions only.

(2x20=40)
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What is a cost sheet and why is it prepared? Prepare a cost
sheet with imaginary figures.

TG T H B @ SR 9% T IR S €7 HIeTh
A & SHR W TH AFE T8 SR

What is meant by an 'Incentive Plan' in the remuneration of
labour? Explain these plans in brief.
gu-qRgfs ¥ ‘Wons A w1 oFn ot 77
A 1 HeT § e i)
Explain normal loss, abnormal loss and abnormal gain and

state briefh how. the\ should be dealt with in process cost
accounts.
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Describe the functions of cost auditor. State the difference
between financial audit and cost audit.
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5. (a) Calculate reorder quantity of a material from the
following :

1. Normal Consumption- 15,000 units per annum

2.  Expenses of the purchase department Rs. 6.000
p.a.

3. Numbers of order issued by the purchase
department per annum 2.000.

4. Invoice cost of materials Rs. 4 per unit.

5. Cost of storage. Rent, Insurance, Premium and
interest on capital invested 12%.

(b) Calculate (a) Inventory Turnover Ratio and
(b) Inventory Turnover Period from the following :

Rs.

Opening stock 2,000
Purchases 10,000
Closing Stock 3,000
(F)Fm= & 9 9wl # YA IR W w1 fAuim

hITSTT
1. WA STEM 15,000 ShEAl it
2. Hg faam & aAfties == % 6,000.

3. w9 faum g dftg aifter emeen w1 g
2 000.
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SECTION-B/( ©@US-@)
(Short Answer Type Questions)/( g I AT Y9T)
Note : Section 'B' contains Eight (08) short answer type

questions of Ten (10) marks each. Learners are required
to answer any Four (04) questions only. (4x10=40)
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1. What do you mean by cost accounting? E.xplain its
objectives and advantages.

AN @R o 8?7 THE Sevdl WS oflHl &l e
EqiSl

2.  What do you understand by elements of cost? Explain in
detail.

AE F g d U AW F HEe ©7 R ¥ e
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Describe the different methods of pricing the materials issued
from stores.

qugR ¥ frifhd |l & gedied 1 fafa= gonfeai =
U HIfST

What do you understand by overheads? Differentiate
between apportionment and absorption of overheads.

IUem | &9 F gHed §) SURe & fausH s
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Explain the distinguishing features of contract accounts.

3HT @ ot fafre fagmmet = =ren sifsw)

What is Operating cost? What are its objects? State the
undertakings where it is to be used?
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What is meant by cost reduction? How does it different from
cost control?

AN It k1 w1 AY 8?7 U8 ARG FEFA0 ¥ fRE YR
= 22

What is activity based costing? What are its advantages and
limitations?
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